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Name: 

Daily Word Problem

answer: ____________________

There are 3 swimming pools.
Each pool has 3 beach balls in it.
There are two more beach balls on the grass.
How many beach balls are there in all?

B-81 Basic Multiplication;
Repeated Addition

Multi-
Step

Show your work.



Daily Word Problem
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Name: 

answer: ____________________

There are 67 geese in my backyard.
28 fly away.
How many geese are left?

B-82 Adding & Subtracting 
2-Digit Numbers

Single-
Step

Show your work.



Daily Word Problem
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Name: 

answer: ____________________

A bag has 18 slices of bread in it.
Mr. Sanchez uses 9 slices to make toast.
He uses 2 more slices to make a sandwich.
How many slices are left in the bag?

B-83 Adding & Subtracting 
2-Digit Numbers

Multi-
Step

Show your work.



Daily Word Problem
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Name: 

answer: ____________________

I am thinking of a secret number.
The digit in the tens place is 4 less than 7.
The digit in the ones place is 2 more than 1.
What is the secret number?

B-84 Place Value: 2-Digit 
Numbers



Daily Word Problem
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answer: ____________________

Brexley has $39.
Hunter has $12 less than Brexley.
Enzo has $25 more than Brexley.
How much money does Enzo have?

Name: B-85 Add & Subtract Money;
Extra Information

Single-
Step

Show your work.
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Daily Word Problem

ANSWERSB-81 through B-85

answer: ____________________

Brexley has $39.
Hunter has $12 less than Brexley.
Enzo has $25 more than Brexley.
How much money does Enzo have?

Show your work.

answer: ____________________

I am thinking of a secret number.
The digit in the tens place is 4 less than 7.
The digit in the ones place is 2 more than 1.
What is the secret number?

answer: ____________________

A bag has 18 slices of bread in it.
Mr. Sanchez uses 9 slices to make toast.
He uses 2 more slices to make a sandwich.
How many slices are left in the bag?

Show your work.

answer: ____________________

There are 67 geese in my backyard.
28 fly away.
How many geese are left?

Show your work.

answer: ____________________

There are 3 swimming pools.
Each pool has 3 beach balls in it.
There are two more beach balls on the grass.
How many beach balls are there in all?

Show your work.

39 + 25 = 64

$6433

9 + 2 = 11
18 -- 11 = 7

7 slices11 beach balls 39 geese

67 -- 28 = 39

9 + 2 = 11
3 × 3 = 9

or
3 + 3 + 3 = 9
9 + 2 = 11


